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Choose a. b. or d which best completes each item.

1. Which of the following statements is False?

a. A computer can store or handle any data even if it hasn't received information to do so.

b. All computers accept and process information in the form of instructions and chara:i s.

%ﬁt PHLET.
d. There are many different devices used for feeding information into a can 2

a. complex intricate
b. a way a mean
c. reject accept
d. ideas concepts
3. Which of the following statements mdic word "vacuum tubes"?

a. an instrument used for d

4. Someproblembaren't ............... without logarithm tables.

b. calculate c. calculator d. calculable
5. Which of the following statements is True?

a. The basic concepts of data processing are restricted to computers alone.

b. The processor is the central component of a computer system.

c. Computers are very much restricted in what they can do.

d. Computers haven't changed our working conditions very much.
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6. In which statement the second word is a synonym for the first word.
a. cases instances
b. exceptional typical
c. employee employee
d. run well malfunction
T e plexing is when many electrical signals are combined and cauied ¢ optical
link.
a. multi b. mega C. mono

a. measure b. measured C.ieag
9. Which of the following staternents rnatched with\th&-word "riniperipheral™?
a. processing unit of rnicrocornputer
b. internal storage
c. attached to rninicornputers

@:@ ory devices
ying staternents is False?

d. specialized second
10. Which of the

econdary memory and internal memory are located in the same place in the computer
system.
d. The arithmetic-logical unit of the processor is responsible for the interpretation of program
instructions.
| O businesses have computerized their accounting departments.
a. unlike b. unequal c. not all d. not the same as
12. In the future, computers will probably replace most of our daily activities, but ....... scientists
are still trying to develop computers to their full potential.

a. in the meantime  b. meantime c. at the same time _d. meanwhile
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13. Which of the following words matched with the statement “directs movement of information

between memory and arithmetic unit”?

a. decoder b. register c. logic unit d. control unit
14. Computers understand commands ................. in the form 0f 0 and 1.
a. exXpress b. expressed C. expressive d. express;

15. In which statement the second word is an antonym for the firsgae

a. characteristic feature U
b. frequently used  common
c. absence presence
d. essential necessary
16. Microcomputers are cheaper.than TAMES, «ovvvvnenns being compact and portable.
a. as well as b besi C. moreover d. additionally

17. Which of the fg

c. connected to the computer
d. used if data is lost
18. Which of the following statements is False?
a. To read a tape, you put it on the hub of a tape drive.
b. Tapes are usually kept on-line.
c. Information is stored lengthwise on a tape.

d. Tapes are superior to cards, partly because they require less space for storage.
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19. The entrance of the new computer centre hasa .................. door.
a. revolving b. revolve c. revolution d. revolved

20. Which of the following words matched with the statement “light and dark ofthe same

colour”?

a. plotters b. intractive ¢. monochromatic
21. All disks are made of a substance coated with metal oxide and&s
a. hence b. thus c. so that

22. Which of the following statements is False?

a. In the decimal system, the 0 is called a bit. )

d. program translated a machine code

24, The project succeeded because of the careful .......... by the data processing manager.
a. supervision b. supervising C. supervisor d. supervisory
25. At the rate computer technology is growing, today's computers ..............be obsolete by 1985

and most certainly by 1990,

a. unlikely b. could not c. might d. impossible
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